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  NÚMEROS ENTEIROS: PRODUTO E DIVISIÓN 
 
 
1) Calcula: 

a) ( )23 −⋅  
b) ( )54 +⋅  
c) ( )68 −⋅  
d) ( )35 +⋅−  
 

e) ( )42 −⋅−  
f) 36 ⋅−  
g) ( )52 −⋅+  
h) ( ) ( )74 −⋅−  
 

i) 39 ⋅−  
l) ( )46 +⋅−  
m) ( )310 +⋅−  
n) ( )58 −⋅+  

2) Calcula: 
a) ( ) ( )253 +⋅−⋅+  
b) ( ) ( )614 +⋅−⋅−  

c) ( ) ( )345 −⋅−⋅+  
d) ( )272 −⋅⋅−  

e) ( ) ( )328 −⋅+⋅  
f) ( ) ( )4510 −⋅⋅−  

 
3) Calcula: 

a) ( )2:8 +−  
b) ( )10:20 −  
c) ( ) ( )4:12 +−  
d) ( )2:20 +−  

e) ( ) ( )3:15 −−  
f) ( ) 4:32+  
g) ( )1:6 −+  
h) ( )6:54 −  

i) ( )7:42 −+  
l) 8:48−  
m) ( ) 5:50−  
n) ( ) 7:35−  

 
4) Opera: 

a) ( )[ ] ( )5:8:80 −−+  
b) ( )[ ] ( )7:2:70 −−−  

c) ( )[ ]6:30:50 +−+  
d) ( )[ ]3:24:40 ++−  

 
5) Aplica a propiedade distributiva: 

a) ( )[ ] ( )[ ] 10142412 +−+−⋅++−  
b) ( )[ ] ( ) ( )1023123 −−+−−−+−⋅−  
c) ( ) ( )[ ]74335142 −⋅−−+−⋅−  

 
6) Resolve: 

a) ( ) ( )[ ] ( )3:46 −−⋅+  
b) ( ) ( )[ ] ( )6:215 +−⋅−  

c) ( ) ( ) ( )[ ]3:125 −−⋅−  
d) ( ) ( )[ ] ( )3:125 −+⋅−  

 
7) Aplica a propiedade distributiva: 

a) ( ) ( ) 345132 +−−+−+⋅−  
b) ( )[ ] ( )527143 −+−+−⋅−  
c) ( ) ( )[ ] ( )64534 −−−+−+−⋅  
d) ( ) ( )[ ]54325 −−++−−⋅−  
e) ( ) ( )[ ] ( )557325 −−+−−+−⋅−  

 
8) Resolve: 

a) ( ) ( ) ( )[ ]46:48 +⋅−+  
b) ( ) ( )[ ] ( )46:48 +⋅−+  
c) ( ) ( ) ( )[ ]36:18 −⋅+−  

d) ( ) ( )[ ] ( )36:18 −⋅+−  
e) ( ) ( ) ( )[ ]3:6:54 +−+  
f) ( ) ( )[ ] ( )3:6:54 +−+  

 


